1 - 2,500
T —RC—22-3

R B S m

i

RC-21-2 | RC-22-1

RC-22-2

RC-21-4|RC-22-3

RC-22-4

RC-31-2 | RC-32-1

RG-32-2

8 5
:l:’ = " A 37.2 = B =
@ 25.62 K ¥ A&
5 SBARUBES
1 ] =331 © 423  FysEHRE
AgEEa
—— 7 35.6 LE =g&)
-=-= 835R82 AHERR
e 2 ® 25.73 /2 K mS
- Kos ®mFzmaesa
T moe S . 123 BEEELLL
- B B &
X [
-me BEAAT
0] B 2o 28 oo )
N N TR 1 m B M
A B BT 1 = "
S B OB B 0 £ 2 ®
® ® 8 B 2 kv ®
K aHEES 2 I I
X E-BEFR % o5 5
v H OB B - ® B
BERER W/~ tbtyzie-mo
O 8%+ g Q IR (GRS
H ) # £ FRITA ($H3EH)
=y 5 ] o BH - A2H
+ FURBR 4 g = #
X L ® O s v g
@ WiEE - REE i -] =
® ARE - ARE O = 15
® ® & W & B B &
&) " B o3 1 )
g iR & ® X 1 8 B A
®@ B A8 o8 7 ®
[\ 8 )| m pel [m]
N x = B S Wk - |’E0
el T ] & BR - LR
oS x B ] oRE S
Pt BHEKR T8 L 5 B
® HYURIUN == gg*ﬁi ‘){'m*g
® g B B — A 0
=== n &
N8 OH B @ % &8
—
T E 8 "% oW
8 = ® &
——————— *t & B _GERP)_muboHM
_(@Ed) BRPDER RIS YA
7777777777 RUERrR®E
— ——— H#E-IHF
L s a 18
Ll & 15
—
— T — %ENBEE
——ote—a ®
= pEo##
- B SR —e—RUBFEm
---— EBROTEE
b x —H—% B ®
ATl o onm | = %7
T T TR B £ 8
e £ 18 # — — — —# O 8
T #RC-RR — — EramozR
— e — LEEOEFR — — —%xF-GTNR
—— BEBBIRR — -F B R
I o Qo Q
B RHEE B &
I e} Q
N ° Z0M0 [
P f Mmoo
v o m*m i
) g2 z U s
EUK v o

A E T 245 3 A

o 1) Q
N — (@]
~ ~ ~
-217.5] : -217.5
(BB FED)
=
723
i
e
;‘\\‘\\‘Tiéfs\\‘—\\“\\;\\“\Vz’i\\
e
17.7
- 14.5
15 ——
-218.0— . -218.0
=
|
El
|
=
<
S
-218.5— -218.5
-219'00_ S S 0 Q'219.O
X B B > >
B K FR22&E12A8 CHOARHRE. EXHEREORBRUNE ./ TRAKMEORE
B B FR23E 7 A 1:2, 500 BRRZHEALTHE=IDOTHS (GREHEE) F23 thay B 30 8]
4] 0 100 200 300 400 500m

EERITRI4EE L EEAEREIENRTE
ICEREMERER

BEFEANLD FILEAE
HBIRRLTHIBFEMEEIFOA— FMILEM
BESOEEIEFREDOFYER
EEHOBRE2 A—FIL
TEAEAEREIHAANBRICKS

T —RC—-22-3



